
Volker
Schendel

Celle
Länge: 010°05' E   Breite: 52°37' N
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! Sonne
" Mond
# Merkur
$ Venus
% Mars
& Jupiter
' Saturn
( Uranus
) Neptun
* Pluto
2 mKnoten
+ Chiron
, Lilith
4 Aszendent
5 Medium Coeli

Radix-Horoskop
Placidus

Datum: 13.12.1949
Zeit: 06:58  MET

P Widder
Q Stier
R Zwilling
S Krebs
T Löwe
U Jungfrau
V Waage
W Skorpion
X Schütze
Y Steinbock
Z Wassermann
[ Fische

Legende
h Konjunktion
i Halbsextil
j Halbquadrat
k Sextil
l Quintil
m Quadrat
o Trigon
p Sesquiquadrat
q Biquintil
r Quincunx
t Opposition

Planeten-Stellungen
! Sonne 20°54' X Schütze Haus 1
" Mond 23°09' U Jungfrau Haus 9
# Merkur 2°37' Y Steinbock Haus 1
$ Venus 5°49' Z Wassermann Haus 2
% Mars 24°28' U Jungfrau Haus 9
& Jupiter 2°27' Z Wassermann Haus 2
' Saturn 19°11' U Jungfrau Haus 9
( Uranus 3°29' (R) S Krebs Haus 8
) Neptun 16°59' V Waage Haus 10
* Pluto 18°04' (R) T Löwe Haus 9
2 mKnoten 13°06' P Widder Haus 4
+ Chiron 13°34' X Schütze Haus 1
, Lilith 26°42' P Widder Haus 5
4 Aszendent 3°21' X Schütze Haus 1
5 Medium Coeli 1°17' V Waage Haus 10

Häuser-Stellungen
1 3°21' X Schütze
2 7°43' Y Steinbock
3 22°27' Z Wassermann
4 1°17' P Widder
5 28°20' P Widder
6 17°47' Q Stier
7 3°21' R Zwilling
8 7°43' S Krebs
9 22°27' T Löwe

10 1°17' V Waage
11 28°20' V Waage
12 17°47' W Skorpion

Aspekte
( r 4 +0°08' # i & +0°10' 2o + +0°28'
# i 4 +0°44' # t ( +0°52' & k 4 +0°54'
& r ( +1°02' ) k * +1°05' ' i * +1°06'
& o 5 +1°10' " h % +1°19' # m 5 +1°20'
!m ' +1°44' 4 k 5 +2°04' ' i ) +2°12'
( m 5 +2°12' % r , +2°14' !m " +2°15'
$ r ( +2°20' $ k 4 +2°28' !o * +2°50'
# i $ +3°12' $ h & +3°22' ) k + +3°25'
" r , +3°33' !m % +3°34' ) t 2 +3°53'
!k ) +3°55' " h ' +3°58' $ o 5 +4°32'
, r 5 +4°35' " i * +5°04' % h ' +5°17'

Quadranten
Quadrant 1 38 ! # $ & + 4
Quadrant 2 6 2 ,
Quadrant 3 26 " % ' ( *
Quadrant 4 11 ) 5

Elemente
Feuer 33 ! * 2 + , 4
Erde 23 " # % '
Luft 21 $ & ) 5
Wasser 4 (

Qualitäten
Kardinal 26 # ( ) 2 , 5
Fix 14 $ & *
Flexibel 41 ! " % ' + 4

Männlich / Weiblich
Männlich 54 ! $ & ) * 2 + , 4 5
Weiblich 27 " # % ' (
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